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QUESTION 1

Which statement specifies that records 1 through 10 are to be read from the raw data file customer.txt? 

A. infile \\'customer.txt\\' eof=10; 

B. infile \\'customer.txt\\' obs=10; 

C. infile \\'customer.txt\\' obs=10; D. infile \\'customer.txt\\' obs=1-10; 

Correct Answer: D 

 

QUESTION 2

Which program will create a comma delimited raw data file (CSV)? 

A. 

B. C. D. 

Correct Answer: B 
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QUESTION 3

What is the purpose or the MISSOVER option on the INFILE statement? 

A. It prevents SAS from loading a new record when the end of the current record is reached. 

B. It enables SAS to scan the input data records until the character string that is specified in the @`character-string\\'
expression is round. 

C. It enables SAS to continue to read the next input data record if it does not find values in the current input tine for all
the variables in the statement. 

D. It causes the DATA step to stop processing if an INPUT statement reaches the end of the current record without
finding values for all variables in the statement. 

Correct Answer: A 

 

QUESTION 4

The contents of the raw data file NAMENUM are listed below: 

--------10-------20-------30 

Joe xx 

The following SAS program is submitted: 

data test; 

infile \\'namenum\\'; 

input name $ number; 

run; 

Which one of the following is the value of the NUMBER variable? 

A. xx 

B. Joe 

C. . (missing numeric value) 

D. The value can not be determined as the program fails to execute due to errors. 

Correct Answer: C 

 

QUESTION 5
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By default, which variables and data values are used to calculate statistics in the MEANS procedure? 

A. all non-missing numeric variable values 

B. all missing and non-missing numeric variable values and numbers stored as character variables. 

C. all non-missing numeric variable values and numbers stored as character variables 

D. all missing and non-missing numeric variable values 

Correct Answer: A 
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